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MASTER OF COMMERCE
Term-End Examination
December, 2012
MCO-05 : ACCOUNTING FOR MANAGERIAL
DECISIONS
Time : 3 hours Maximum Marks : 100
Note : Attempt any five questions. All questions carry equal
marks.
1.  Discuss various methods of costing giving 20

examples of Industries where they are applicable.

2. Distinguish between Reserves and Provisions. 8,12
Explain the various types of Reserves usually
Created by business firms.

3.  Explain the various Techniques of Financial 12,8
Analysis. In this context, give the format of
common size statements.

4.  Distinguish between cash flow and fund flow
statement. How will you arrive at cash flow from
investing and financing activities ? Explain with
example. 10,10
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5. (a) Explain three budgetary control ratios with 12,8
examples.

(b)  Define performance budgeting and state its
main objectives.

6. Write explanatory notes on : 10,10
(a) Environmental Accounting

(b) Strategic Cost Management

7. A retail dealer in Auto Parts is currently selling
15,000 Auto Parts annually. He supplies the
following details for the year ended December 31,

2009 : 5,5,5,5
Details Amount (Rs.)

Selling Price Per unit 200

Variable Cost Per unit 120

Fixed costs :

Staff Salaries 3,00,000

General Office Cost 1,00,000

Adversting Cost 80,000

(a) Calculate the break even point and margin
of Safety.

(b)  Assume that 12,000 Auto Parts were sold
during the year. Find out the net profit of
the firm.
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Assuming that in 2010 the rate of factory over
heads went up by 20%, dist. expenses went down

1
by 10%, and selling expenses went up by 125 %;

at what price should the work be quoted so as to
earn the same rate of profit on the selling price as
in 2009.

Show full working. It may be noted that factory
overheads are based on direct wages while
administration, selling and distribution expenses

are based on factory cost.

The standard labour component and the actual
labour component engaged in a week for a job

are as under :

20

. Skilled |Semi skilled | Unskilled
Details
workers| workers | workers
Standard number of
) 40 24 16
workers in the gang
Standard wage rate Per
35 25 15
Hour (Rs.)
Actual ngmber of workers 35 30 15
engaged in the gang
Actual te per h
ctual wage rate per hour 36 28 14
(Rs.)

During the 45 hour working week, the gang
produced 3,240 standard labour hours of work.
Calculate different labour variances.

MCO-05 4



If it is decided to introduce Selling
Commission of Rs. 5 per Auto Part, how
many Auto Parts would require to be sold
in a year to earn a net income of
Rs. 1,20,000.

Assuming that for the year 2010 an
additional Salary of Rs. 1,50,000 is
anticipated, and price of one Auto Part is
likely to be increased by 10%, what should
be the break-even point in number of Auto
Parts and Sales revenue.

8.  The following figures have been obtained from

the cost records of a manufacturing company for
the year 2009 :

Rs.
Cost of materials 2,40,000
Direct wages 2,00,000
Factory overheads 1,20,000
Distribution expenses 56,000
Admin. Expenses 1,34,400
Selling expenses 89,600
Profit 1,68,000
A work order was executed
in 2010, and the following
expenses were incurred :
Cost of materials 32,000
Direct wages 20,000
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THHLLIL-05 : Weewa Huial & fau araisd

qqg ;3 g2 TYFTH 3F : 100
qJiZ:  fml i ol & S forflgu ) @t 3o @ sid aHIT
g

1. fafve o fuier vgiaal = fod=m sifge) a & 20
3 e & ot 3w i 9 3 o gt €

2. 999 991 WG ¥ 3 9asU | Sadras w1 g 8,12
T S aTet fafe 9941 (Reserves) st A& iU |

3. fo<ia favewo &t fafbys gfafaai = =men wifsw) 12,8
ES3) Hed # wyr e faayo (common size
statements) 1 YI&Y ST |

4. UFe yaTe faeor aun =19 yaw faewer § 92 wifsu
e wd fasdiaa franei @ 219 are Ihs yarg &1 afd
FH F1d H! W ¥ ? IS wigd e wifstny 10,10
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5. (a) gl FEEV SO R 3T Uied wmen 12,8
Edisid
(b)  TTea1e Srifdn =t afvumen SifSTe, qon s9% g
3eYAl 1 o™ HifST |
6. TrAfafad R e fewfiar fafau : 10,10
(a) UIEXY @@i®A (Environmental Accounting)
(b) @HAft®  @Md g9y (Strategic Cost

Management)

7. IR YN H1 UH GIEU AN SeHd 15,000 HieX
9S! gfd & a=ar 81 36 femmr 31, 2009 1 wHE
B A1t ¥ i frefaiad e gem w1 55,5,5

fereur (s, )

fersna Hea-ufa g 200

uftedt ema-uia gTg 120

ﬁzﬂ W]ﬁ :

HHIR 3,00,000

YH= s g 1,00,000

[EERERSIUG 80,000

(a) ¥ fo=ee foig aur gran @ (margin of safety)
%1 UMY FHISIT |

(b) AFEES f6 a9 § 12,000 @R gsf 9= Q)
w1 H g @Y @ wife
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(c) afg 5% wfq mex got faska wHHieE < &
foa T 4 1,20,000 %. T I 9 FAR %
fau frem wex qEl *1 fosha wT TS
?rm ?

(d) T ehfete f& 2010 # 1,50,000 . 1 Ao
e 1 B HHAl ¢ 9 TF AR [& & oA §
10% ! gig w1 <1 Hehett &1 T Fearfa o =
farsde faig Ak qoil 1 Wem wa fagha ame &
Y H a1 g ?

8. U fafmivh 9t % wrra erferal & a9 2009 % 20
forg fre=fefaa sties W gu

s,
WU 1 AT 2,40,000
Y&l TSIl 2,00,000
FHged Iu=a 1,20,000
ferawor =g 56,000
EESEENC 1,34,400
fasra =3 89,600
Ty 1,68,000
2010 § T & Tew QU fohan

a1, &R frefafea == feg e

T ST AT 32,000
TeaEl HSGU 20,000
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I% HHd 8T o 2010 § el Sufeal w1 22 | 20%

1
ﬁq@g‘s‘,wmlo%aﬁ,amﬁmmlza%

9% ; 3@ F@ F AU = qod we fEaw S afE
fosha e w2 oy It 9% @ B SR 2009 F e

Trqo] T IR L - 2 ST fh el i
Afafiem =17 Toret Teigl I SNHia & et qendie,
forsha wd foraeor = Teedt @rTa WX STrHTfid |

9. U I& & [oId A& HH UG arediaes 99 &1 4]

fr=feafaa o . 20

- T | 3TG HIA | AP

g gt | gfas
T T gfiel w1 e e | 40 24 16
A AsTgl & 9fd =er (%.) | 35 25 15
1 H gt w1 arafas gemn | 35 30 15
arIfeeh 49 & 9fd = (%) 36 28 14

45 9 & FEER Twe ¥ §1 3w F 3,240 UHF
gfrer w2 Ianfeq fou | fafus gw ool =1 7o

FifTT
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